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QP Code"10039 o
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[Total Marks 60

(3) Workmg notes should form part of your answer.

1. Aproduct passes. through three process and 1, 5 O 000 umts were mtroduced in Process 1 at (15)
- a cost of T 1,12,500. The followmg ﬁlrther information is available. -

Partlculars ‘Process’1 | Process2 Process 3

Cost of Material 74,000 14,000 6,500

Direct Wages 022,500 | 11,250 | 5,625

{ Direct Expenses 8,200 22,000 ‘| 16,750
Output (units) . 1,42,500 | 1,38,750 | . . 1,27,500

Opening Stock (units)- 22,500 | 11,250 15,000
Closing Stock (units) 15,000 18,750 35,625 .

Opening stock valuation (per umt) T.5.20 . T5.380 T9:30

% of normal wastage . 4% 5% 10%

Scrap sale price (per unit) %020 | T0.30 T 0.40

The closing stock i in each process is valued at respective process cost. Prepare Process A/c
and Process Stock A/c. | |
OR
1. Followmg details are furmshed by Umverse Ltd. of expenses mcurred durmg the year ended (15)
' 3 1“March 2014.

Particulars = o T
- Costof Matenals ' " 70,000 -
- Opening stock of finished goods (1000 units) 17,050
' Closing stock of finished goods (2000 units) 2
- Depreciation on machinery 19,200
Loss on sale of machinery 3,500
Direct expenses 30,000
' Showroom expenses 17,100
Manager's Remuneration 76,000
Dividend paid 1,560
Wages-Direct 52,000
Advertisement 36,050
Depreciation on Office Equipments 34,400

[TURN OVER
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Partlculars |

o Drawmg Demgmng Expenses' .

Purchase ‘of Machinery

Deprec1at10n on Dehvery Van . -
. Office expenses o
§ Factory Rent -

Sales (19000 umts)

QP Code: 10039
10,800
38,000 -

22,800

37,600 -
v 31,000
4,56,000 -

Closmg stock of finished goods to be valued at cost of product1on. |
. You are required to prepare cost sheet showmg various elements of cost both in total and E
' per unit and also- ﬂnd out total proﬁt and profit per unit. -

20 M/s Home Builders have obtamed a contract for constructing a House. The contract work B
~ commenced on 1% July, 2011 and was completed on 31t January, 2014. The year endmg of
- the company is 31* March. The contract price was T 160 lacs. The Contractee agrees to pay
" 90% of the value of the worth done as certified by Architect immediately. - A machine
costing T 12,00,000 was specially bought and used for the contract. The residual value of
the machine as on31* January 2014 was ? 5,80,000, Depreciation is to be effected on

stra1ght line ba31s ,
B You are provided w1th the followmg information : A ,
. 2011-12 . '2012-13 2013-14
 Partialars T | = T
“Cost of Material 5,52,000 | -17,27,000 3,97,000
Cost of Labour 15,69,500 | 28,06,300 | 20,59,000
Architect fees © 49,000 89,000 99,000
" | Supervision charges . 26,400 39,000 |: 57,200 |
Overhead expenses 13,56,100 | 8,34,300 ‘| - 7,43,200
Materials on site at the - , - |
end of the'year - 11,000 26,000 16,000
Uncertified work at the | S . | '
end of the year A 40,000 80,000 —
| Cash received from the | ' . ‘ g
contractee durmg theyear | 36, 00 000 | 72,00,000 | 52,00,000

~As per the policy of the company no profit to be considered unless the certified work
completed exceed 20% of the total contract price. Thereafter, proﬁt is to be taken credit
for in the same proportion as the cumulative amount received bears to the contract price.

Prepare :— Contract Accounts for all the three year. .

"OR

" HT-Con. 5829-15.
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2 (a)"Youareglventhefollowmgmformauon — PR L ®
B Selhnance—perumt—?ZO : o B
~ Variable Cost — per unit— 3 15
. E leed Cost—-—? 90, 000
b Calculate — S
' X0 Profit Volume Ratlo - :
(i) The Break Even Sales (m T and umt)
(iii) Profit at Sales ¥ '4,80,000 - _
S (iv) New Break Even Sales in rupees 1f sale pnce reduced by 10%. E
2. (b) Fromthe followmg calculate — - | o )
' ) Material cost.variances | - - ' -
(ii) Material price variances |
- (iii) Material usage variances
The standard mix of product is — ,
X - 900 - units at ¥ 2 pu.
Y 1200 - uwnits at ¥15 pu
B The actual consumption is — - 3
X 960 units at T 2.5 pu.
Y 1440 units at ¥ 1.00pu

3. (® What is anAudlt Programme ? What are it's advantages and d1$advantages ? (8
- (b) How would you verify the followmgs - 7 S (D
(i) Debtors ' - R ' ~
(11) Bllls payable } .
OR

(a) What is mtemal audlt ? What are it's prmc1ples and ob_] ects ? - - t))
. (b) DlSCIlSS the procedure for removal of a company aud1tor : L _ )
4. (a) Fill in the banks and rewrlte the statement — : _ - : : ' N (8)

- (i) The full form of AAS is
(i) When by mistake the transac’uon are omltted ﬁ:om recordmg, it is an error of

(iii) - Audit workmg papers are the property of .
" (iv) The auditor examine bill of Lading in order to vouch _ sale.

W) Scope of internal audit is decided by _ .
(vi) a may fill casual vacancy which arise due to death of an auditor.
(vii) - Stock of goods on consignment should be valued at ‘
(viii) Guarantee for loan taken by others is : liabilities. -
| [ TURN OVER -
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4 QPCode 10039

4 (b) State Whether the followmg statements are True or False _ Lo ,' L (7)1 ’
R . (@) ‘Internal Auditor is appointed by Céntral Government. e
. .(ii).. Error of omission does not affect the trial balance
- (iif) ‘Permanent audit file includes trust deed. . -~
. (iv) Furniture is not subject to physical verification.
(V) Test check is applied when internal control is Weak
(vi) Sales bills are internal documents.
_ (Vii) F1rst auditor is be appointed by the board of dlrectors
: , OR , : o S
4 (a) Answerthefollowmgmshort = T ®
. (i) ‘What is Continous Audit ?. - ' -
- (i) Whatis Audit Note Book ?
(111) State any two types of Audit Technique. ,
-(iv) State any two disqualification of company Statutory Audltor

4 (b) Match the followmg column and Rewrite.’ _ | : | _ Q)
- Column A : ‘ . ColummnB '
(1) Cash payment exceedmg . Conﬁrmat‘ion
.. ¥5000 o : ‘
(2), Wages ' . Showmg good financial positon -
-(3) First auditor B o Includes copy of Memorandam of Assocmuon
, . (4 Window Dressing - e Ownership
~ " (5) Permanent file " e Supported by personnel records
. (6) True and fair view ' e Appointment by Central Government
(7) Audit Technique - . e Canbe removed without pnor approval of

Central Government
e Disclose all material fact
e Signature '.of a payee, on Revenue Stamp

HT-Con. 5829-15. [ TURN OVER
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9 | QP Code :110040

(REVISED COURSE — OLD PATTERN)
| (3 Hours) | [ Total Marks : 100

N.B.(1) Question No. 1,2 and 7 are compulsory and answer any two from the remaining
of each section. K
(2) Figures to the right indicate full marks allotted to the question.
(3) Working notes wherever necessary should from part of your answer.
(4) Answer both the section in the same answer book. -

Section 1

1. (a) Explain the Basic principles of Auditing. * 8
(b) ' How would you vouch the following ?

‘ (i) CashPurchases .
(i) Travelling Expenses. o -3

0]

2. (a) Select most appropriate option and rewrite the following Sentences :— 6
(1) The main objective of window Dressing is ' ‘
e To Reduce Tax Liability
e To Mislead investors
‘e To Understate profits
o To increase Liability
(2) Audit programme should be
e Oral
e Rigid
e Flexible
e Oral and flexible o
- (3) Audit in depth is a synonymous for _ .
‘e Complete audit
e Incomplete audit
. Final audit
e Detailed audit _ ‘
(4) To select a sample for audit, the auditor should consider
e The size of the sample
e The volume of transaction
'« Adequacy of internal control system.
, e All of the above. '
(5) Stock is valued at
e Cost
‘e Market Value
e Cost or market value whichever is less
» Realizable value. "

[ TURN OVER
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10 QP Code :10040

- (6) ___may fill casual vacancy which arises .due to resignation of
an auditor.
e Board of Directors .
o Central Government -
e Shareholders . , \
e Registrar of Company '
State whether the followmg statements are True or False :—
(1) Primary responsibility of auditor is to detection of etrors and fraud.
(2) A firm of a chartered Account cannot be appointed as a statutory audltor
{(3) Vouching includes verification.
(4) SA 530 deals with Audit Sampling.
(5) An error of principle will not affect the Trial Balance.
(6) Auditor can also apply Test checking for opening and closing balances.

Explain in detail the Hifferent types of Errors.
What is Test checking in Auditing ? What are the merits and 11m1tat1ons of test

checking ?

Explain the provision of eompanies Act 1956 regarding appointment of a eompany
Auditor. e
Explain ‘Interim Audit’. What are its advantages ?

What do you mean by an Audit programme ? Explain its adventages.
How would you verify the following ?
(i) Loose Tools
(i) Public Deposit. .

(a) Secret Reserve

(c) Concurrent Audlt :
(d) Auditing Techniques

" (e) Objects of verification.

Section II

Mamta Manufacturmg Co. Ltd — : ' 2

' Trading and Profit and Loss Account for the year ended 31-12- 2013

Particular : £ Particular : £4

| To Raw Material Purchased 2,80,000 | By Sales (8750 units) - | 8,75,000
To Direct Wages o 1,05,000 | By Closing Stock of Raw Materlal 17,500
To Direct Expenses ' -87,500 - ’
.| To Factory Expenses : , 1,40,000
To Gross Profit ¢/d 2,80,000

8,92,500 | 8,92,500

HT-Con. 5829(a)-15. | ~ [TURN OVER
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11

To Office Salaries 87,500 | By Gross profit b/d 2,80,000 |
" | ToOffice Rent 42,000 | By Dividend Received 35,000
| To Selling expenses 43,750 | By Discount Received 26,250
To Preliminary Expenses Written off| 8,750 ]
| To Goodwill written-off - 19,250
To Net Profit ¢/d ‘ 1,40,000 |
. 3,41,250 3,41,250

For the year 2014, It is estimated that —
(1) Units Produced and sold will rise by 20%.

{2) Prices of Raw Material per unit will rise by 20%.

(3) Direct Wages per unit will increase by 30%. '

(4) Direct Expenses will increase by ¥17,500 in total.

(5) Factory Expenses per unit will increase by 35%. v ~

(6) The Ofﬁce premises which was on rental basis in 2013 would be purchased |

by the company on which depreciation would be ¥ 21,000 in.2014.
, (7) Selling Expenses per unit will remain same.
You are required to prepare a statement showing estimated cost and profit for the year
ended 31-12-2014 considering that company shall charge a profit at 25% on cost.

Amla Construction Ltd. entered into a contract to construct a bungalow. ,
The contract value is ¥ 19,50,000 to be realized in installment on the basis of the
“value of work certified by the architect subject to a retention of 10%. The work
commenced on 1-4-2013 but it remained incomplete on 31-12-2013. The facts and
figures of the contract are :— L

96,000

- Plant charged to contract at the commencement 3
Material charged to contract T 5,40,000

" Wages paid N v T 2,61,000
Expenses incurred on the contract T 1,16,250

Total establishment expenses amounted to ¥ 1,23,000 out of which 25% is attributable
to this contract. Out of the materials issued to the contract, material costing ¥ 12,000
" was sold for £15,000. A part of the plant costing Z 6,000 was damaged on 1-10-2013
and the scrap realized T 900 only. Plant costing T 9,000 was transferred to another
contract site on 31-12-2013. Plant is to be depreciated @10% p.a.

‘Material in hand on 31-12-2013 - T 52,500
‘Cash received -from contractee T 9,18,000
Cost of work yet to be certified . T 90,000

Prepare contract account showing there in the amount of profit or loss to be transferred
to profit and loss Account. : \ '

. A product passes through three processes X ,Y and Z. 15,000 units@ T 10/- per unit
were issued to Process X. The following other details were avajlable :— - :

QP Code : 10040

HT-Con. 5829(a)-15.

Particular Process X | Process Y | Process Z
| Direct Labour (3) 6,000 8,000 10,000
| Direct Expenses (3) 12,000 24,000 | 10,000
“Wastages (%.of input) 5 4 5
Sale price per unit of wastages (%) - 0-25 0-5 1

15

15
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12 QP Code.:('1oo4o»

The overheads were charged to the process @ 100% of dlrect labour of the respectlve
process.
The final product was sold at T 20/- per unit. -

_ There is no stock ‘either at the beginning or at the end.

. Prepare process X, Y and Z Accounts. '

-10. (a) You are given the followmg information :— .9
Selling Price - Per Unit - ¥ 100 | g o
Variable Cost- Per Unit- ¥ 75
Fixed Cost - ¥ 4,50,000
Calculate : '
(1) Profit Volume Ratio :
(2) The Break Even Sales (in ¥ and in Units)
- (3) Profit at sales ¥ 24,00,000
 (4) New Break Even Sales in rupees if sale price is reduced by 20%.
(b). Calculate :— .6
(1) Material Cost Varlance
(2) Material Rate Variance
(3) Material Usage Variance.
Standard For 270 kgs of Finished output
Material - 405 kgs @ ¥ 36 per kg
Actual - Production - 2,43,000 kgs
Actual Material Used - 3,72,000 kgs
Cost of actualMaterial used - T 44,26,800

11 (a) From the followmg details find out Profit and Loss as per Financial Accounts. 5

Particular S
‘| Under absorptlon of factory overheads ‘ 15,625
Overvaluation of closing stock of Raw materials in Cost Accounts 10,750
Profit as per Cost Accounts ' 3,37,500
Depreciation under Recovered in Cost Account : ‘ 4,625
"Over absorption of Administrative Overheads L 4 12,250
(b) From the following calculate Labour Variances :— ~ 5

- (i) Labour Cost Variance
(11) Labour rate variance
(111) Labour Efficiency variance :

Standard hours for 6 Umts — 30 hours

Standard rate : — ¥ 15 per unit

‘Actual Production — 3,000 units

Actual hours S —~ 17,350 hours

Actual Rate . - 36 per hour ,
(¢) From the following information calculate — 5

(i) Amount of Sales
(11) Break Even Sales
' (111) Margin of Safety _‘
Fixed Cost T 3,20,000

Profit - T 1,20,000

- Profit Volume Ratio ' 25%

~ HT-Con. 5829(a)-15.
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